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 العلامـــة
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 �:)�طةنق���07,5التمر�ن��ول�(

	ب  :���ا� )1

� = (−2) + (+0,7) = −1,3 

� = (−3) + (−4,3) = −7,5   

� = (−6,5)— (−12) = (−6,5) + (+12) = +5,5 

 : �اُ��� ا�����ع ا����ي  )2

� = (−12) + (5,5) − (−2) − (+8) + (−4)	

			= (−12) + (+5,5) + (+2) + (−8) + (−4)	

			= (+5,5) + (+2) + (−12) + (−8) + (−4)	

			= (+7,5) + (−24)	

			= (−16,5) 

 

 : �� ���� ا���������  	��	1ر�� �������ً ��ر��ً ��� و��ة ا���ل ��  )3

�(−2,5)		; 			�(+3)		; 			�(−1) 

  

 

  :  ��		و		��ب ا�������� ���

�� = (+3) − (−2,5) = 3 + (+2,5) = 5,5	�� 

                                      

 ا������ ا����� -ا������ ا�����                                         

�� = (−1) − (−2,5) = (−1) + (+2,5) = 1,5	�� 

 

 

 

 

 )�:اطنق���06,5التمر�ن�الثا�ي�(

  	�	و	��� ����� ���� ا�������  ��	1وو����  �ر�� �����ً ������ي ���ؤه  )1
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3×01  

  :ور�� ا�����

�(−4	; ;	2−)�						و					(1,5 		4) 

 

;0)�: إ���م ا���ا��ت )2 0)					; 				 	��(4		; −1,5)				; 				��(2		; 	−4)		  
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01 

01 
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01,5 

  :)�طة�نق���06التمر�ن�الثالث�(

 ، ��� �′���	و		��������ً:    ����ور��� و���������  -زاو����:    )1

	و		�������ً : ���������  -
�

���� ��� ، 

ً  ����د���� -  ، ��� ����		و		���������ً :  دا����

2( ��� ��  : ′����ب ��� ا��او

 ���		�   ) 180°��������ن (����ع ������  ′����			و

����� = 180° − ���� = 180° − 125° = 55° 

��ن (���)	و	(���)�� أن ا��������� �� )3  : ���از

���������� ا��او���ن  ������ ) 55(° ���� ��� ا������������ن و 	�����		و		

��ن� (���)	و	(���)ا���������   أن    ���از

 




